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Comparison of Double Entered Data

1. Purpose

In the Starworms study, all raw data are entered into excel files, the Data Entry Files (DEFs), using
double data entry policy, i.e. all data are entered by two independent data entry clerks.

This SOP describes the procedures to identify discrepancies between the different DEFs that have
been generated during the double data entry process.

2. Equipment
e Personal Computer or laptop with Excel

3. Forms and files

RF 01, RF 02, RF 04, RF 05, RF 07, RF 08

DEF 01_PersonA, DEFO1_PersonB, DEF 03_PersonA and DEFO3_PersonB

4, Procedures
4.1. Installation of the ‘Inquire’ add-in in Excel
1. Open Excel, click on ‘options” under ‘file’. A new window opens.
2. On the left hand side, choose ‘Add-ins’.
e T
3. In the ‘Manage’ dropdown menu, select ‘COM Add-Ins” and click on ‘Go’.

4, Thick ‘Inquire” and click on ‘OK’.
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COM Add-ins 2|

Microsoft Power Map for Excel
[~ Microsoft Power Pivot for Excel
[~ Microsoft Power View for Excel
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Location: C\PROGRA~2\MICROS~1\Office16\DCF\NATIVE~1.DLL
Load Behavior: Load at Startup

Comparing two DEFs.

1. Open the two files that you want to compare for inconsistencies, e.g.
DEFO1_PersonA 20160901 and DEFO1_PersonB_20160901.

2. Choose ‘Compare Files” under the Inquire add-in: a dropdown list will show you all opened
files. Choose the two files that you want to compare and click on ‘Compare’.

Compare: [DEFO1_PersonA_20160901xisx =l
To: DEFO01_PersonB_20160901 xisx v

Swap Files I Compare I Cancel I

3. Anew document, divided in 5 parts, opens:

(i) above, left, you see the data from one DEF

(i) above, right, you see the data from the other DEF

(iii) below, in the middle, you see the list with all inconsistencies between the two files
(iv) below, left, you see the color code explaining the type of inconsistencies

(v) below, right, you see some statistics.

In the title bar, you see which DEF is on the left and the right.

The inconsistencies are marked throughout the document. In the example below, two

inconsistencies are shown: Trichuris counts of Kato-Katz slide A for TAOO1 and Trichuris counts
of Kato-Katz slide B for TAO10.
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B Spreadsheet Compare - File 1: [DEFO1_PersonA_20160901.xlsx] - File 2: [DEFO1_PersonB_20160901.xisx]

Home
E’:@ = % {54 Resize Cellsto Fit [ ‘b [ options
=l 5 show WorkbookFomatting LAl @ e
Compare  sh Show Erport  Copy Results
Files  Detals | Formulas Results ~toClipboard
Compare View Bxport Information |
A B c [ E | F G H 1 3 A | 8 [ 3 F 9 H 1 ]
1 Kato Katz B Was stool s Evaluation ‘ Number of 1 Kato Katz B Was stool s Evaluation ' Number of
2 SideA slide 2 SideA side
3 [SubjetD Ascaris  Trichuris  Hookworm Ascaris  Trichuris  Hookworm 3 |SwbjetD Ascaris  Trichuis  Hookvorm Ascaris  Trchuris  Hookworm
s 001w 0 s 145 0 YEs oK 0 4 o0l @ 0 53 45 0 YES 3 0
5[tz o 7 0 0 16 0 A oK 0 [s_|mo2 o 7 0 0 15 0 YES oK 0
6 s s 102 5 17 57 2 Yes oK 0 6 [Tz 155 102 H 17 97 2 VEs oK 0
7 om0 113 0 124 104 0 Yes oK 0 7 T4 130 13 0 124 104 0 VES oK 0
s [Ta005 0 3 0 0 27 0 Ves oK [ 8 |5 0 3 [} 0 27 0 VES oK 0
lo [t o 31 0 [} 3 0 Ves oK 0 lo |mos o 31 0 0 3 0 VES oK 0
10 007 0 2 0 0 54 0 Ves oK 0 10 |07 0 2 0 0 5 0 VEs oK 0
11 a0 81 0 0 7 0 Yes oK 0 T 0 81 0 0 7 0 VES oK 0
12 |Tas 3 1 0 116 13 0 VEs oK [ 12 |Ta0s 103 1 [} 116 13 0 VES oK 0
iz oo 37 3 0 1 Ves oK [ (13 [T o 3 3 0 1 VES oK 0
14 o110 1 0 0 23 0 Ves oK 0 14 T 0 1 0 0 3 0 VEs oK 0
15 o 7 & 0 754 7 0 Yes oK 0 15 TR 7% ) 0 754 7 0 VES oK 0
16 |Ta0i3 S5 3 0 552 2 0 VEs oK 0 16 |TAB 555 3 0 552 21 0 VES oK 0
7 [T 12 3 0 120 10 0 Ves oK [ (7 |mo i 3 [} 120 10 0 VES oK 0
18 |Ta0is 231 7 2 157 39 8 Ves oK 0 18 T 51 7 2 157 3 8 VEs oK 0
19 a0 0 58 1 0 8 0 Yes oK 0 19 [T 0 58 1 0 i3 0 VEs oK 0
[0 (o s 3 0 069 37 3 Yes oK 0 20 |y 3 0 065 37 3 YES oK 0
1 o 0 2 0 0 213 0 VEs oK [ a s 0 20 0 1 0 VES oK 0
22 [T0is 65 2 10 9 6 3 YES oK 0 (22 o6 2 10 % €4 3 vEs oK 0
PER T 318 5 886 25 2 Yes oK 0 PER L 318 5 886 20 2 Ve oK 0
2a T2 E) 0 499 55 0 Yes oK 0 24 TRi E) 0 455 55 0 VES oK 0
5 2 w4 @ 0 031 % 0 VEs oK [ 5 |2 w4 8 [} 01 % 0 VES oK 0
s |mz s 5 0 % s 0 Ves oK 0 26 [m3 1 5 0 2% s 0 VES oK 0
7 s 0 7 0 0 [ 0 Yes oK 0 2 mes 0 7 [} 0 3 0 VEs oK 0
8 s w7 10 211 106 1 Yes oK 0 8 T 1w 97 0 i 106 1 VES oK 0
29 a6 36 9% 0 315 £ 0 VEs oK [ 29 |Ta6 306 %8 0 3 9 0 VES oK 0
o [mozz o 38 30 0 e £ Ves oK [ L 38 [0 0 41 34 VES oK 0
31 [Ta08 30 616 0 52 a6 2 Yes oK 0 31 [TA8 3660 616 0 w5 a6 2 Ve oK 0
327205 0 2 8 0 3 7 Yes oK 0 32 [T 0 2 8 0 3 7 VES oK 0
[ <) M Baselne Demographics (LF0T) | Baseline KK Resuits (RF 02) ,Baselne KK ReadngTime (RF02) ~ Baselne I [ 4] Il [>J [ » | Baseine Demographics (LF 01) | Baseline KK Resuts (RF 02) - Basclne KK ReadngTime (RF02) - Baselne MF Resuts (RF05) | [4]] W D
Enable | Option ][ shest [l [Vakel [ Value 2 T Chings Descrption I ;
S Al Baseine KK Resuts (RF 02) C4 149 19 Entered Vaue Changed s [
Baseine KK Resuts RF0) C199 29 2 Entered Vae Changed .
L] Baseine KK Resuts (RF02) FI3 | 357 8 Entered Vaue Changed
[ cicutea v Baseine KK Resuts RF02) F213 205 502 Entered Vae Changed :
4 FolowUP KK Resuts (RF .. F6 2 21 Entered Vae Changed 2
o] FolowUP KK Resuts (RF .. F11 7 bz Entered Vae Changed . 1
3 o
v PIERIEEICIIEG
P [Names gt g FEEG
r - TEF 3§
r H H H
Ready -Fie 1: [DEF01_PersonA_20160901.xisx] -Fie 2: [DEF01_PersonB_20160901.xix] -Total Dispayed Items: 6

4. Save one of the DEFs as ‘DEFO1_PersonC_QC'.

5. Identify all inconsistencies between the 2 DEFs, check the correct values in the raw data, i.e.
the different Record Forms, and correct in the ‘DEFO1_PersonC_QC’ if necessary.



